Greek Language

FJCL State Forum 2018

Choose the best English meaning for the following Greek words and phrases.

1. 8lodog
A. a passage

2. Selobaipwyv
A. intelligent

3. BaoAkog
A. basic

4. adnAog
A. eager

5. KaKNYopéw
A. Islander

6. 0EAnua
A.idea

7. AoyiCopat
A. Isupervise

8. @uTeLuA
A. act of planting

9. 6Atyoxpoviog
A. short-lived

10. mtapafBaivw
A. I march

11. Tpdyovog
A. brother

12. ovvtiBepat
A.1agree

13. @opabng
A. lazy

14. cpalplotiplov
A. aball

15. lepomolog
A. general

B. god-given

B. superstitious

B. basket

B. obscure

B. I compliment

B. instruction

B.Itend

B. a plant

B. doubtful

B. I skirt

B. ancestor

B. I take apart

B. loving

B. ball court

B. craftsman

C. double

C. fragrant

C. royal

C. persuasive

C. I purchase

C. question

C. I calculate

C. a planter

C. long-lasting

C. I transgress

C. descendent

C.Isetup

C. energetic

C. ball player

C. farmer

. excited

. sorrowful

. timid

. confident

. I construct

. will

. I travel

. plantation

. secular

.I board

. offspring

. I pull down

. studious

. a ball game

. priest
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16. oiko8ounoig

A. act of building B. a building C. abuilder D. place for building, site
17. ebpopog

A. diligent B. kind C. attractive D. helpful
18. ékelBev

A. those B. from there C. there D. to there

19. dyvwoTog

A. indifferent B. disinterested C. non-competitive D.unknown
20. 6popevg
A. runner B. race C. race track D. act of running

Grammar (Morphology & Syntax) - Choose the best answer to the question.

21. When the word kpoko68eilog goes into the genitive case, how is it accented?
A. xpoko8eilov B. kpokodeidov C. kpoko68ellov D. kpoko&elAoD

22. Which of the following expresses “a city on a river”?
A. TOAG Tiepl TOTAHOD B. OALG émi ToTO(OD
C. TOALG TTEPL TTOTAUOV D. oA émil motapu®d

23. Which of the following means “he, she, it knew”?
A. 1idn B. i8eL C. €lde D. oide

24. What is the neuter nominative plural of the adjective Spiuvg?
A. Spuu B. Spua C. Spyva D. Spuéa

25. Which of the following expresses “If Epaminondas had not defeated the Lacedaemonians at

Leuctra, Sparta would never have been destroyed”?

A. el p) 0 ’Emapevovdag toug Aakedatpovioug év Tolg ASOKTPOLS EViKa, 1) ZTAPTH OUK GV
KATEAVETO OVSETOTE.

B. el un 0 Emapevovdag toug Aakedaipovioug €v Tolg AeOKTPOLG EVIKNOEVY, 1) ZTAPTH OUK GV
KATEAVOT oVSETOTE.

C. el un 0 ’Emapevovdag tovg Aakedatpovioug £v Tolg AEUKTPOLS VIKNOELEY, 1] ZTTAP T OVK Qv
KataAvBein oVSEMOTE.

D. €av un 0 Emapetvwvdag tovg Aakedatpoviovg €v Toig AeUKTpoLg viknon, 1) Zdptn ov
KaTaAvOnoeTaL oUSETOTE.

26. Finish the sentence: 0 OgpiotokAf|g ToLG dAAovg "EAANVag egamatd tva...
A. ot "EAAnveg toTg [TEpoaig Gl ZaAapiva pexwvToL.
B. ot "EAAnveg toig [Tépoatg dpet Zalapiva pdxeoOal.
C. ol "EAAnveg toTg [TEpoatg dpuel ZaAapiva LayoUEVOL.
D. ot "EAANveg ToTg [Tépoatg Al Zoadapiva payoLvTo.
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27. Match the given protasis with the required apodosis: é¢av 6 IlepikAfig €v tf) €ékkAnoia A€y,
A. ToUg ABnvaiovg v TeloeLev. B. toug ABnvaiovg eloeL.
C. Tovg ABnvaiovg meiBeL D. ToUg ABnvaiovg émelBev av.

28. Which construction appears in the following sentence: 5t T0 TToAAGG vadg £xev ot ABnvaiot
ApxMV peyaAnv ktnoacbatl Eésuvnonoav?

A. Indirect Speech B. Articular Infinitive

C. Result (Consecutive) Clause D. Purpose (Final) Clause

29. Which of the following correctly expresses “Ariadne happened to fall in love with Theseus”?
A. 1) ApLadvn €tuyxe ToD Onocws épacbeioa.
B. 1) Aptadvn €tuyxe TOv Onoéa épacbeioa
C. 1 Apladvn £tuxe 100 ONoEws EpacOijval
D. 11 Aptadvn €tuye peta tol Onoéws épacbelon

30. Change ayand (he, she, it loves) to the imperfect (he, she, it was loving).
A.yamn B. yamel C.nyamq D. yana

31. Which of the following -mi verbs is NOT an aorist?
A. €nxoag B. edwkaaoi(v) C. ot D. é8ovto

32. Which of the following is a potential optative?
A. 6 lTabAog €8(8aokev 0TL SL TioTewg gl XpLotoOv owloipeda.
B. £l0e owlolpeba.
C. ) miotevoavTeG oVK Gv owlolpeda.
D. émoteVoapev tva owlolpeda.

33. Which of the following is a hortatory subjunctive?
A. ypaowpev B. ypagétw C. ypawotpev D. ) ypaymg

34. Put 0 péyag mod¢ into the dative singular:
A. t® peya modi B. 1® peydretmodt  C.t® peydAimodl  D.1® peyddw modi

35. Which of the following expresses “I think that they will arrive”?
A. vouilw avtoug agiteodal B. vopuiw avtoug agiéopévou.
C. voutlw aToUg d@ikveiodal. D. vopllw avToULG d@ikéobal.

36. Which of the following is an acceptable translation of: dtav 0 Zwkpatng €v tfj dyopd Statpif,

TIOAAOVG dvBp®TOUG TIOAAX Kol XAAETIA EPWTA.

A. Whenever Socrates spent time in the agora, he used to ask many people many difficult
things.

B. When Socrates was spending time in the agora, he asked many people many difficult
things.

C. Whenever Socrates spends time in the agora, he asks many people many difficult things.

D. When Socrates spends time in the agora, he will ask many people many difficult things.
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37. In the sentence, 0 [TAdtwv é0Ti cuveTwTEPOG 1) 0 AploTtapyog, which of the following can replace
the phrase 1) 0 Aplotapyog?
A.t® Apotdpyxw  B.toD Apotdpyov C.tovApiotapxov D. S tol Aplotdpyov

38. Which of the following is NOT an aorist infinitive?
A. BaAgly B. eVpely C. ToLETv D. 8tv

39. Which of the following is a perfect active infinitive?
A. TIBéva B. yeypaéval C. 2ubijvai D. 8t8ovat

40. Which of the following means “to go”?
A. glvar B. elvat C. ievau D. iévou

Reading Comprehension - Answer the questions based on the passage given below.

A Note from Cleopatra to Caesar (Plutarch, Life of Antony) [unadapted]

Kaloap & Avoag tnv 8EATOV, w¢ EVETUXE ALTATS Kol OAO@UPHOTG SEOUEVNG AVTNV OLV
Avtwviw Bagal, TaxL cUVIIKE TO TETPAYUEVOV. KAl TPDOTOV HEV AVTOG WPUNOE
BonOelv, émelta TOUG CKEYOUEVOUGS KATA TAXOG EMEPPEV. £YeyOvel 5& OEV TO TTAOOG.
Spopw yap EABOVTEG Kl TOUG PEV (PUAATTOVTAG 0VOEV NoONUEVOUG KaTAAAPBOVTES,
TG 8¢ BVpag dvoiavteg, elpov avTV TeBVNKUTAY &V XpLoT] KaTakeévny KAV
KEKOOUNUEVNV BACIALKDG. T@V 6€ YUVaK®V 1) pev Eipag Aeyopévn tpog Toig oot
anebvnokey, 1 8¢ Xdppiov jdn oarropévn kal kapnBapoboo KATEKOOEL TO
Stddnpa To TEpL TV KEPAANV aUTHG. ltOVTOG 6€ TIvog 0pYi): “KaAd tabta, Xaputov;”
“KéAAota pgv odv,” €@, “kai Tpémovrta Tf T0600TwV dmoydvw Bactéwy.” Aoy 8&
o082V elmey, GAAX aToD TP THV KAV Y éTeot.

Vocabulary Help:

8£Atog = writing-tablet; letter, note \ évtuyyxavw + dat. = encounter,; read \ Avti] = prayer,
entreaty \ 0Ao@upuno¢ = lamentation, grieving, mourning \ 8éopan = I beg, request, ask \ 0aPpat:
from Oantw = [ bury \ 0ppaw = I rush \ okePopévoug: from okoméw = I inspect, check out \
Ta0o¢ = experience; misfortune, death \ koopéw = I dress, fit out \ o@ailopar = I totter, swoon \
kapnBapéw =1 am drowsy, heavy in the head \ katakoopéw = I arrange \ mpémov = fitting,
suitable

41. What did Caesar conclude from Cleopatra’s note?
A. Her hatred for Rome would be undying.
B. She had truly loved him, not Antony.
C. She intended to commit suicide.
D. She intended to fight with Antony at Actium.

42. What request does Cleopatra make in her note to Caesar?
A. That he prepare to fight with Antony.
B. That he bury her body with Antony.
C. That he allow Antony’s body to be buried.
D. That he acknowledge Antony as king of Egypt.
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43. What was Caesar’s reaction to the note?
A. He did not understand that Cleopatra was dying.
B. He himself rushed to the place where Cleopatra was dying.
C. He took no action in response to the news of her dying.
D. He sent men to the place where Cleopatra was dying.

44. Which of the following describes the scene outside the queen’s quarters?
A. The guards were unconscious and the doors open.
B. The guards were missing and the doors bolted.
C. The guards were oblivious and the doors closed.
D. There were no guards and the doors were open.

45. How did they find the queen?
A. They found her dead, dressed royally, and lying on a golden bed.
B. They found her dying, dressed royally, and lying on a silver bed.
C. They found her dead, dressed royally, and lying on the ground.
D. They found her dying, dressed royally, and lying at Eiras’ feet.

46. What was Eiras doing in the room?
A. She was washing the queen’s feet.
B. She was lying at the queen’s feet.
C. She was kissing the queen’s feet.
D. She was dying at the queen’s feet.

47. What was Charmion’s chief concern?
A. That she get Cleopatra’s diadem now that she was dead.
B. That Caesar leave the room at once.
C. That the queen still appear dignified.
D. That Eiras not die as well.

48. Who spoke in anger?
A. One of Caesar’s men B. Eiras
C. Charmion D. Caesar

49. In Charmion’s view why was Cleopatra’s death a fitting way for her to die?
A. Such a death suited such a brave woman.
B. Such a death suited one descended from famous kings.
C. Such a death suited such a staunch enemy of Rome.
D. Such a death suited one so unfortunate in love.

50. Which of the following is true about Charmion?
A. She died wearing Cleopatra’s diadem.
B. She was killed by an angry soldier.
C. She collapsed next to Cleopatra’s bed.
D. She blamed Caesar for Cleopatra’s death.



